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2.Chosen option on top right of the question indicates the o ption selected by the candidate

Question ID :9864493617

Q.1 T g
e i fas &= d‘-ﬁG@' g Status :Not Answered

Prostate gland is present below: Chosen Option :--

T

e
2{'1. the kidneys
TSI

< 2 the scrotum
e

Ans

'3 the urinary bladder
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forT
#, the penis

02w e w AW & wEleT g o et ¥ gafoa gl

‘Car’ is related to ‘Garage’ in the same way as ‘Hen’ is related to

Ans

03 3MESHET U UHT 3IHIOT § TAWHRT I9TTT aizar H A9 F e e

Ans

0.4

Feal & T & o =
?{1, Kennel

e
v, Coop

HEddeT
/3 Stable

Sias

# 4 Shed

ST g |
An Odometer is an instrument used to measure
Nl
# 1 speed
T
?{2, odour
fear

X 3. direction

Y

¥, distance

in automobiles.

Question ID :9864494214
Status :Answered
Chosen Option :4

Question ID :9864493239
Status :Answered
Chosen Option :4

Question ID :9864492966

Status :Answered
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Ans

Q.5

U 39T F orer A & Arer gy Tov Y A F AT 40 9§ I FW A 6 2
T % aie i Hem A Srar g ar oer ey & @ g{ der #r A 103
gr FTTEm| &9 7 Faer o 9 272

In a bag the ratio of red balls to green balls is 4 : 9. If 6 more green balls were added to the
bag, the ratio of red balls to green balls would become 1 : 3. How many red balls are there
in the bag?

¥,8

X729

<312

<410

Chosen Option :1

Question ID :9864494078
Status :Answered
Chosen Option :4
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R TR R N IR AT d S T F scR e s v = F a
P TT FUT gATT B

e & AT FT T WA 2

Hdd:

1. IAET T T &G F T ¢
2. IATET FT TT T =TT ¢

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the colour of the granite in the kitchen?

Statements:
1. The colour of the granite is the colour of the wall.
2. The colour of the granite is very bright.

X,
, far =TT 9o &7 3o} A & T awkem 2 gAcg § AfT e 1 gIeT @@
ns %|

2 alone is sufficient while 1 alone is not sufficient to answer the given question.
& a0 5ed &7 3R & & e 1 3R 2 S| =T §

?{'2. Both 1 and 2 are sufficient to answer the given question.
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Q.6

Ans

Q.7

Ans

x,
fodr 1T 9o T 3ca¥ &= & T 33ar 1 gaTeg & afes 39er 2 goicg =8f
gl

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

T gT F IR e &+ r T ar 1 3k 7 & 2 gaeg &

W', Neither 1 nor 2 is sufficient to answer the given question.

A R e Ry & fra B # 2

Which of the following numbers is not composite?

X 1203

Question ID :9864493776
Status :Not Answered
Chosen Option :--

Question ID :9864492884
Status :Not Answered
Chosen Option :--
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v, 109

X3 209
x, 161
08 “frzw tor TF 2.5 Hrer AT o ¥ S AN FOY Y S5 o0 F aar ¥ Question ID :9864492122

Status :Not Answered

IR g FiaE 3T efagfas Anr g 3| agr 7 Feen? Chosen Option :--

‘Freedom Trail’ is a 2.5 mile long passage that offers a rich insight into the American
Revolution. In which US city would you find this famous and historic trail?
ECCRy
?{1. Denver
FalFehe

?{2. Connecticut
AfFwEE
?{'3_ Memphis
aires
¥ 4 Boston
09 @ v WIS F1 A qam, S ag gfaafea ar & gt & qoras sa Question ID :9864493094

Status :Answered

Wmﬁmw s FE Chosen Option :1

Name the Russian chemist who stated that the properties of elements are a periodic
function of their atomic masses?

Heolld
¥ 1 Mendeleev

Hrenfafaera
?‘:'2, Markovnikov

Sforaehr
K 3 Zelinsky

Ans

Ans
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CRPC
?{4 Zaitsev
Q.10 3'“%%7‘1% ﬁ' 3T &7 T t Question ID :9864494334
H ;Er a’ ?I',% ﬁ ﬁl Status :Answered

Chosen Option :2

NDIO[HIO

1 2 3 4 3

Select the odd figure out of the given series.

[O[HO

.....
[ ]
ik
=
L

Question ID :9864494231
Status :Answered
Chosen Option :1

0.11
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& T H@eT ¥ 3T ol & TTT Y|

a b £ d
Select the odd figure out of the given figure series.

Tortoise, Crab, Frog, Fish

a b C d
Ans %41 d
X
X,
x
012 3 e Ui ¥ Rides Fa § S AT TREE W Ted I T O Question D:9864492433
STEHT U Follad T Fgrr Fr Feidr &2 Chosen Option :--

Who is the director of the film ‘Poorna’, which depicts the story of Poorna Malavath, the
youngest girl to climb Mount Everest?

Tger A

¥ 1 Rahul Bose
3'1?:|:T|?T hITOY

Ans

/<, Anurag Kashyap
aA IrgeT A

< 3. Gautham Vasudeva Menon
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3T HEH
X, Ayan Mukherjee

Q.13 m T q'Uﬁ' FT FIT %‘? Question ID :9864492188
~ Status :Ansyvered
What is the full form of GST? Chosen Option :4
¥z Tew =
Ans .
# 1 Grand Sales Tax
5] feshr =

# 5 Goods Sales Tax
AT fashr &

/3 General Sales Tax
&G AT F&ET

¥, Good and Services Tax
Q.14 E-FE_; ﬁ' 0 °C di9H= 97 ﬁﬁ' ﬁ g'rﬁ_[ Eﬁqﬂ': Question ID :9864493523

Status :Answered
The speed of sound in air at 0 °C is: Chosen Option :2

330HeT TF=
/1 330 ms

330 AT gfT gz
#5 330 ms?
331HeT TFe

X3 331 ms
331 A afa o=

¥, 331 ms™?

Q.15 Question ID :9864492569
Status :Answered

Chosen Option :4

Ans
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30 IGHT Teh &TH I Fidfee 8 O 1 &l 16 &t # TACT =X T g1 &
F & R A3OF TF 3= F 10 A 7 gfafea 12 92 w1 e wATa
A & T fraa 3mefEat i draegewar grie

IRIFA T HI g e & (o€ =0T A QU 10 §| 5o¢ FAGER cgated

FI
J0x16x8x2x
A M, =——————
} 2 ¥¥12x10

30x16x8 Mox12x10
B) ==

® 2x

M,D.H M-.D-H

C) 1-"1 l: 23812

Wy W,

D) M, = 64

Thirty men can do a piece of work in 16 days working 8 hrs a day. How many men are
needed to complete another work, which is twice the first one, in 10 days working 12 hrs a
day?

The following are the steps involved in solving the above problem. Arrange them in
sequential order.

I0x16xEX2x
A)M2=

I0x1le=a KXII'-%;(:EZXIU
B) b3 - %
C) MﬁiHl _ 1»{1[.:'2}[z
D) M, = 64
Ans  #<1 ACBD
?(.2_ ABCD
/3 BACD
¥, CBAD

Q.16 Question ID :9864492653
Status :Marked For Review
Chosen Option :4
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1% Sl 2018 1 WA o1l a7 & fFw av & v av & g JAan
T gref?

15* January 2018 was a Monday. Which of the following years will also start on a
Monday?

Ans  #<q 2022
<, 2023
3 2020
v, 2024

017 37 & ¥ =l ¥ I # & 39 913 g2
Which of the following compounds has a double bond?

s

# 1 Ethane
A=

/5> Methane

X5 Acetylene

zofer

+', Ethene
018 farafof@a # @ forw Janfae & Jeradt #r ur=et 3w & v Fo sver H
ofT ?
Which of the following scientists had done some calculations for the fifth state of matter?
. & T

# 1 CV Raman

Ans

Ans

Question ID :9864493511
Status :Answered
Chosen Option :4

Question ID :9864493307
Status :Not Answered
Chosen Option :--

Page - 11


https://mail-attachment.googleusercontent.com/attachment/u/0/?ui=2&ik=23510533e2&attid=0.9&permmsgid=msg-f:1611835636219381697&th=165e63f8a52c07c1&view=att&disp=inline&realattid=f_jm5x22c88&s%E2%80%A6

9/17/2018
TAgaATT S

«', Satyendra Nath Bose

IECTERCIRIELIES
?{3_ Vikram Sarabhai
ST e
?{4_ Homi Bhabha
019 gfFF & 2:39:408= UF FoF & &7 3 Far 3t 30 7 suer Sta?ﬂsefz\iggvigrﬁéélél‘)2974
12:30:34 I=r o T f&an To5 foas 9HT 9% Forar @ Chosen Option :1

Shrenik switched on a bulb at 2:39:40 hours and switched it off on the same day at
12:30:34 hours. For how long was the bulb in switched-on mode?

09 g¢ 50 f&a< 54 W&z

¥ 1 9 hours 50 minutes 54 seconds

12 u¢ 40 fA=ic 06 &3
#5_ 12 hours 40 minutes 06 seconds

06 T 09 f&=e 09 Tohe

#(3. 9 hours 09 minutes 06 seconds
10 =E 09 fA=e 06 @3

~ 4. 10 hours 09 minutes 06 seconds
Q.20 Question ID :9864494319
Status :Answered
Chosen Option :2

Ans
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A &1 Fare 98 AR ghafaa st f Fiadr ool feoafOmr wee 221
FT AIT TN O T & FHEYT 87
fecqutt:

1. g, R SR A O FF T @ AT g
2. FET, AT IR 7 e ae-ai@H & e g

Read the given question and decide which of the following arguments is/are strong.

Are stock markets sources of wealth creation?

Arguments:

1. Yes, money multiplies in stock markets.
2. No, investments in stock markets are subjected to market risk.

el feoqult | Heer gl
#(, Only argument 1 is strong.
arar feeaforar 1 3R 2 e
# 5 Both arguments 1 and 2 are strong.
F ar feoqulr 1 7 €2 weer

/3 Neither argument 1 nor 2 is strong.
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S feoqul 2 gaer ¢
+', Only argument 2 is strong.

A R T WL SR AR 2 Statue owered
Which of the following is an unsaturated Hydrocarbon? Chosen Option :1
ERIED
Ans (1- Bthyne
g
#<, Propane
g
xg_ Butane
e
?{’4_ Pentane
022 zeaz &=t ( Answer figures) # & TET faed I T 92 AT (Problem Stgﬂiﬁﬂﬁzvﬁg;ﬁé‘l“%%z
figure) H A@eT ‘:lﬁ Eong Chosen Option :2

Problem Figure

||| 2

Answer Figures

= | B @\@

1 2
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i i - -r

Complete the series given in the Problem Figure with an appropriate option from the
Answer Figures.

Problem Figure

|| @ ?

Answer Figures

g | &= @\@
3 4

| 2
Ans <1 1
v, 3
K3 2
<, 4
023 zf ereg ‘UNIVERSAL & 3&RT &t JUTATST HE H oFMAT ST § AR 50 &HH o uestion ID :9864493998
H 9ois MR & AT 9% 37 F 306 T & W[AR 1,2,3.. F GEAHF Chosen Option :1
Ao foreifta frar orar &, aF =11 (FEee) & T & TEAcAS Hedl &
S5 fohaer gem?

If the letters in the word ‘UNIVERSAL’ are arranged in the alphabetic order and each
letter in the order is assigned a numerical value of 1, 2, 3... according to their position

from the lefi, then the sum of the numerical values of the position of the consonants will
be:

Ans %1 31
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X, 28

?"«"3_ 20
<y 32
Q.24 ﬁ-’lﬁﬁﬁﬂ' FH ﬁ ﬂ' ﬁqﬁ' ﬁa‘ & T ﬁl Question ID :9864494307
Status :Answered
Chosen Option :1

1 2 3 - <

Select the odd character out of the following series.

O|U|E|T]|I

1
Ans W1 4
<2 1
<3 3
<y 2

(]
(%)
B~
n

Question ID :9864494092
Status :Answered
Chosen Option :2

Q.25
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Ans

SArer G AT U F T AT g A AT HL b FUA F HUR W B AT
oy @fRaa & & @emer 31 @t gl

Hed:

T gfraET o 9feT F gwa g g T o e o =0 @ @9 2

Ay

1. 3 T o 3= RE § O &, ofee o e #
2. ¥ Ty A gl F Twer Al 2, =T 9t ¥ O E

Consider the given statements as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

All studious students pass in exams. All studious students sleep well.

Conclusions:

1. All who sleep well are studious students.
2. All who pass in exams sleep well.
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o ar sy 1 3 ar & sy 2 e w=a g

¥ 1 Neither 1 nor 2 follows.
fo forse 2 37T FTar gl

?{"2_ Only conclusion 2 follows.
frd 1 Fur 2 gt gEvor A B

?{3_ Both 1 and 2 follow.
fod s 1 31e7aTor FEar gl

< 4. Only conclusion 1 follows.

Q.26 @'EHT-I' ORI x2 - 4x + k = OFT UF Hel x = 3 I Te AT T Question ID :9864492736
c %1 T < EF): Status :Answered

One of the roots of the equation x? - 4x + k = 0is x = 3. The other root is: Chosen Option :4
Ans ?{1_ x=-1
Ko x=-4
X3 x=4
v, x=1

027 @ &1 @it AT T2 siist, CO, 3N ABESagad Fa H IREg HLam g7 . ?uesz\ionIDr9d864493536
atus :Answere

Which component of the blood transports food, CO, and nitrogenous waste? Chosen Option :4
The, TFd HIAFTT
#1. WBCs
&Fd coldeled
#, Blood platelets
TATAN(Plasma)

Ans

¥ 3 Plasma

el & PITSTRT

x
4. RBGS Page - 18
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Q.28 fE ves aFqg #1 et AT ST TRIE AT HT 256 T[AT &1 AT g, A AT [T Faer
gIem:

If the kinetic energy of a body becomes 256 times its initial value, then the new linear
momentum will be:

ST TRTEAF AT & TAH
1. the same as the initial value

SHF TR AT &I 8 T[T

', 8 times the initial value

SHeh IR AT ST 16 AT

¥ 3 16 times the initial value
SHS TR AT &I 32 T

?‘:"4_ 32 times the initial value
Q.29 e Tolewia W Ws Ueh HGAHT &l IR il & folw 54 freliaiey gfa gardrafad
TeTel aTell 180 HIEX ofell Ueh LTINS GaRT hcletl GHY feram S

What 1s the time taken by a 180 m long train running at 54 km/h to cross a man standing
on a platform?

12 Tehs
V1 12 sec
10 T3
?{2_ 10 sec
13 8=
x.g. 13 sec
11 hs

?{4_ 11 sec

Ans

Ans

Q.30

Question ID :9864493062
Status :Answered
Chosen Option :3

Question ID :9864492470
Status :Answered
Chosen Option :1

Question ID :9864492616
Status :Answered
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Ans

Q.31

Teh 2TaT & UTE W Ueh UgTET & i &l Seataed 10T 60° § 3 ey & MY T ugrdr &
91 ST 3e=TdeT 10T 30° g1 T 2rax Fr 398 50 HreT 2, & TeEr #r 3= fhder &7

The angle of elevation of the top of a hill at the foot of the tower is 60° and the angle of
elevation of the top of the tower from the foot of the hill is 30°. If the tower is 50m high,
what is the height of the hill?

180 HIEY
#1 180m
120 #HreX
#5 120m
100 HreX
/3 100m
150 HreY
¥4 150m
1998

1999

e /T Tre a¥ 1999 3y 1998 & faffiesr sufagt Hr fBrfr =¥ cofrar &

Chosen Option :4

Question ID :9864493950
Status :Answered
Chosen Option :4
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afe 1998 & For fshr 7890 o, e 1999 # 16.5% & Jf& g¥ i, ar a¥
1999 # For fashr sramsrer gl

1999

The given chart represents the sales of different companies in the year 1999 and 1998.

1998

If the total sales in 1998 was 7890, which increased by 16.5% in 1999,
then the total sales in the year 1999 is approximately .

Ans  #71 9119
<, 9911
x5 1919
v, 9191
Q.32 Question ID :9864493654

Status :Answered
Chosen Option :1
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38 TEr T # FUa FY S T A §

<%

“ulu"
A B C D

Choose the correct picture which follows:

X4- A
033 35T T&aT T 30% &1 AT 33 g2 af TEAT FAT §7 Question ID :9864492826
Status :Answered
30% of a number is 33. What is the number? Chosen Option :3 Page - 22
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Ans ?{'1. 105
<5 120
v3 110
<4 115
034 foraAf@d § @ Hid °r Afgen vyeie = WaEr A1 g2 Question ID :9864492290

Status :Not Answered
Which one of the following female athletes is not a squash player? Chosen Option :--

FIA® gAY
+ 1 Koneru Humpy

SrerT e
#, Joshna Chinnappa
&ITerT Toolehel
# 3 Dipika Pallikal
3ATRT HelTThATAT
#, Anaka Alankamony
Q35 5776 =T El'n‘hl?vl' e %—7 Question ID :9864492944

Status :Answered
The square root of 5776 is: Chosen Option :3
Ans W1 84
<, 66
<3 76
<, 64

036 Tt fieey oF 519 - & | U AT § & — AT F9ar gl B Fam? Question ID :9864492681
3 12

Status :Answered
Chosen Option :2

Ans

: i s 1 oy
A fraction, when taken away from - gives = The fraction is:
3 1

3
Ans >~ 1 ;
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Q.37

Ans

Q.38

Ans

v,

K3 12

?{"4.§
TeF Tehe 20 AT 9fa B I oo TR a1fd & Oy 3eanR 9 & F9 A a7s arr
e F ToIT Sl 3T AT 81 35 Vehe AT HIA & 91, The H FHIg THEDT 3977 &r
ST & A ST U H AT T AT | ST A1G ehe Ueh Herd [oehI T STy
TTT AT &1 ST ST 9o 1 T=ft 3= ¢

A rocket is launched to travel vertically upward with a constant velocity of 20 m/s. After
travelling for 35 seconds, the rocket develops a snag and its fuel supply is cut off. The
rocket then travels like a free body. The height achieved by it is:

700 HeT
/1 700m
800 HreT
# 5 800m
680 HIET
X3 680m
720 HET
v, 720m
T FE J, I MIZZLY = ZIMYLZ for@r ST § 3t PUZZLE &t ZUPELZ

for@r Jmar & df S8 FET # BUZZWORD & & for@r smeem?

In a certain code, if MIZZLY is written as ZIMYLZ and PUZZLE is written as ZUPELZ,
then what will BUZZWORD be written as in the same code?
v, ZZUBDROW

X, BUZZDROW
X< 3 DROWZZUB

||;_‘|-|¥'||—l

Question ID :9864493140
Status :Answered
Chosen Option :4

Question ID :9864493976
Status :Answered
Chosen Option :1
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Q.39

Ans

Q.40

Ans

Q.41

Ans

X, WORDBUZZ
2017 # YRR ARG 3EET 39-a1q 'dar aiaT 3% AP & ows
Pt 82

Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila’ published in
20177
31fFrer Farér

«', Amish Tripathi
Tger Hedl
#<» Rahul Mehta

A=l HITT
#3 Chetan Bhagat

qTaeT orAT

?{4_ Robin Sharma
20, 28 3T 48 FT AA. &
The HCF of 20, 28 and 48 is:
X, 2
X, 8
<31
v, 4
oIS AT H INER &I ¥ IRA ld AT [Aserad arell oter ¥ 7 $r 39 &
ATH qd1T
Name the reddish brown gas evolved when Lead Nitrate is heated strongly.

SIS SE3TFITSS
', Nitrogen di Oxide

Question ID :9864492201
Status :Not Answered
Chosen Option :--

Question ID :9864492842
Status :Answered
Chosen Option :4

Question ID :9864493410
Status :Not Answered
Chosen Option :--
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#{5 Nitrogen pentoxide
2 AEcaa JiaaEs
#< 3 DiNitrogen Oxide

wrsfeen 3iferdrss

& 4. Nitric Oxide
Q.42 Question ID :9864493486
_@_ Status :Answered
Chosen Option :1

forr & feme o wFa @ fgga aRuy & weest # Far FEd 82

o

The given symbol stands for a/an in an electric circuit.

# 1 plugkey
dod

ad
W5 electric bulb

g
X 3. resistor

Cry

/< 4 battery
Q.43 Question ID :9864494213
Status :Answered
Chosen Option :4

Ans
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o= & @ 3l o1 fFeey fer 7v Ry & T8 2dur sfafes & Serar &

?

SMILE
Select the option that depicts the correct mirror image for the given word.

SMILE

Ans &1 AITWS
<, BWITE
# 3 ELIMS
v, dIIM2

Q.44 3mesferes e GROT # TgelT ot ded & 82 Question ID :9864493573

Status :Answered

Which is the first metallic element in the Modern Periodic Table? Chosen Option :4
He

Ans -
<1 He
H;
?{2‘ H;
Na
?"43‘ Na
Li
v, Li
Q.45 Question ID :9864494247

Status :Answered
Chosen Option :3
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fafaf@a smer #, gea fEa (2) @ fET 71 @ o 3R
Faiead g1 Ru 1e feedt & aequitya ser &1 99w F1)

E:d; O;T; 2

In the following series, one letter is missing as shown by the question mark (7). Select the
missing letter from the given options.

E: 30T -2

Ans 1 W
<o X
vi3Y
X4 2
Q.46 f3oT 1= ®RT oada SRT=tIT 2017 Far Wor 77 fFH@d Heaarya 3ag Question ID :9864492389

Status :Answered

& HUAT 5 G Wred faHar? Chosen Option :2

Where was the 2017 World Rapid Fire Chess Championship played, in which
Viswanathan Anand regained his title?

BEES)
?{1. Chennai

HIFer
?{2. Oslo

T

/3 Dubai
o

v, Riyadh

Ans
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4T A &1 1S Amen # fohdet 3 U T R F 3’ ¥ QU g faerey g7 QuestionD:9864493754
Chosen Option
2

563248889266588343
In the below series how many numbers are completely divisible by the number on right?

563248889266588343
Ans %1 5

<2 4
<36
<43
Q48 ¥ 2017 H #IRT & «A¢ Fuw® AR Fgew@r & (F@ea) & &7 § Faa Question ID :9864492295

Status :Answered
FIUHT 0T I %‘7 Chosen Option :1
Who took charge as the new Comptroller and Auditor General (CAG) of India in 20177
=g Agfr
+'1 Rajiv Mehrishi
g =i
# 5 Vivek Goenka
WET FAR
/3 Ranjit Kumar
TS FAR A

Ans

;. Achal Kumar Jyothi
049 syur & T TN Faw FHr TEAT ¥ AT F @d § 9INUT 9T BT ¢ Question 1D :9864493258

Status :Not Answered

The embryo gets nutrition from the mother’s blood with the help of a special tissue called: Chosen Option :--

Ans
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AT
+'1 Placenta
TRy
?‘:2_ Uterus
St gge
/< 3 Fallopian tube
refreryr IfET
x4_ Cervix

Q.50 3rfear oAt wah TYeT 3 78% 3o WTod §U1 T 33 663 3 W gU &, ot Hfowraw

e fohcer O

Adithya got 78% marks in the examination. If he secured 663 marks, find the maximum

marks.
Ans #1700
?{2_ 800
<3 750
v, 850

Q.51
Sales of Bikes in India as per the Colour in

2009

5%

15% 1%
10%
10% &% %
5%
n |

Blue Green Golden Brown Black silver White

20%

I 10%
Red Yellow

2009 #H ARA # N & AR a5l HT G

Bliia_ AT

Question ID :9864492527
Status :Answered
Chosen Option :4

Question ID :9864494252
Status :Answered
Chosen Option :3
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e A e -rEaw

Green- g1
Golden- gelgr
Brown- &1
Black- @prem
Silver- Tald
White- H%he
Red- ©ret
Yellow- drer

faw 71T 3eRET F YR 9T, T T AT Ae-asfee 55% Hr
Fer fashr &M

Sales of Bikes in India as per the Colourin
2009

25%
0%
20%
15% 1%
10% 10%
10% 8% 7%
5%
e I % I
& "B |
Blue Green Golden Brown Black silver White Red Yellow

Based on the given data, determine the bikes of which colours will make a total sales of 55%?
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7, Frel, Al 3R goagd

#< 1 Brown, black, blue and golden

370, e, offel 3R Geagd

#<, Brown, black, red and golden
strell, gU, gelgdl, el 3 el
v 4 3. Blue, green, gold, black and red
g, I9a, el AR o
?{ Green, silver, blue and red

052 Tyrfafld & ¥ FhEw Qoll, oty & Sy 3R gt & we @l awgt @ Question ID 986449318

Status :Answered
Chosen Option :1

Jh AT qgm—u a7

Which of the following causes damage to bridges, iron railings and all objects made of
metals?
ST
Ans v 1. Corrosion
W= g (Rancidity)
#<5 Rancidity
Heeldl
K3 Acidity
FTTA

?{4. Reduction
Q.53 Kabaddi Question ID :9864494110
Status :Answered
P Q R Chosen Option :1

= T L

Football v
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Ans

Q.54

I Cricket I

Kabaddl-sa3sr

=4

Football-gearer

Cricket-féhehe

3R & Ao SAAT & 38R fohebe 3 Bedler & @y di|l deil 7 off
AT ol aTel STAl 1 el HEAT fold=1 7 F Fiel Gafid Har g7

F Q

Kabaddi

R

T U

Foothall W

Cricket

According to the given Venn diagram, the total number of students who play cricket as
well as football and also all the 3 games 1s:

<18

<, S+Q
v3S5+V
X4.Q +V

Question ID :9864492702
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16, 28 31T 42 &1 1.9, FaT £?

The LCM of the three numbers 16, 28 and 42 is:

Ans ?{1. 2
<5 168
X3 252
v, 336

0.55 graty aratATH ¥ fFw 9fshar & Areaw & scaeT g 87

Biogas is produced from biomass by:
Farersrlt smaaa
?{"1_ destructive distillation
arTay e

¥, anaerobic fermentation

AT HTHTT
3. fractional distillation
ﬂﬁm
K, dry distillation
056 15 A, 2020 T FlAaT a7 gEM?

What day would it be on 15% March 2020?
orferat
# 1 Saturday
HHTR
2{'2‘ Monday

Iaa
W 3 Sunday

Ans

Ans

Status :Answered
Chosen Option :4

Question ID :9864493085
Status :Answered
Chosen Option :2

Question ID :9864492873
Status :Not Answered
Chosen Option :--
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HeTeTaT

4 Tuesday

Q.57 T T T Question ID :9864492891
qﬁ?ﬁﬂmw@wm,ﬁﬁrmﬁraﬁaﬁ1 gE H 3 Tehal Bl vestionID So0ama8
groiTteh, VAT AT AT € o 9gol €¢ & eI, g 3791 AT &HdT Fl Chosen Option :--

112, g@Y B¢ & gNIE, I8 9= HAYT &TAT & 1/9, 3R deY 8¢ % e,
T HYAT THAT &THAT FT 1/6 T FLar g, AT ©C & G-, Ig 39=r
AT & AT &7 1/4 U297 Fdar ¢ 3R 9ad 9¢ & g, I8 U= AT
&THAT T 1/3 WANT FHIdT &1 T 3= 937 off SET T FT UGl iy &,
oifehet Ifc 98 QX 31T & A FA dF I Tlelr Th A 2 8¢ H #T &3 ar=lr
&I 9187 [Heplolel aTell UIST & TTY, S Ush 82 &7 U ¢l I 18T 9r=T
foehTercy &, il UTSUl o Teh W A FS U Tloll Tl T 5 °HE H IR ST
bl &1 IE IS 3T UIST HIH el L W & df W AT W Ferdr 929
CART EhT P Tell =l H fohdel OC HT TAT oRET?

A pipe, working at full speed. can fill an empty cistern in 1 hour. However, during the first
hour it worked at one-twelfth of its capacity, during the second hour at one-ninth of its
capacity. during the third hour at one-sixth of its usual capacity. during the fourth hour at
one- fourth of its usual capacity and during the fifth hour 1t was only one-third as efficient
as 1t was supposed to be. A second pipe also displayed similar performance, but if it
worked at full speed would have filled the empty cistern in 2 hours. Together with a drain
pipe that drained water out of the tank at a constant rate, the empty cistern could be filled
in 5 hours, all the three pipes working concurrently. How many hours will it take the drain
pipe to empty the filled cistern if no other pipe was functioning during the time?

Ans ?fl_ 10

v, 12
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<316
<415
058 37 RereT &7 997 FY = @S a7 & o9 ey TReeft oo (@a=mr ) =+ Question ID :9864494375

Status :Answered

¥R @1 9T Arer JEr g Chosen Option :1

apan= g E )

Problem Figure

T

1N
W
N

Options

/NG
e
o

2\
A

\/f:ﬂ

L
S
Miege,

ICETs

Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.

Problem Figure

N
v
&t
N Page - 36
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>

K<L
>
SO

Question ID :9864493948
Status :Answered
Chosen Option :4

Q.59
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Ans

fer 71T gt # 99 AT & T AT IF 97 F{ F Ay Ty gegear
HT THENT T H IFFAWT HAT g (L 2)!

EEGEE
IRETEH SART FEATS F HROT T FET T et 7 T g2 8

o=

1. HEeT® TEGIH & IRaEET & T TWHR 39 agT @l AT
2. =Tl F §¢ FEH F T TR Fr 9EEs F @y Ad-aier FET
Sl

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements:
There is an increase in the price of essential commodities due to a strike by the
transporters.

Conclusions:
1. Government should buy their own vehicles to transport the essential goods
2. Government should negotiate with transporters to withdraw the strike.

1 3R 2 2=l IFETT F E
#<1 Both 1 and 2 follow.
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060 frer Sz & s &1 © afy Ikl @ A 3FF e 2 fhaen gem?

Ans

et fasd 1 3TET0T e B

2{'2‘ Only conclusion 1 follows.
1 3 2 =l 0T AL L g

# 3 Neither 1 nor 2 follows.
Faer Ay 2 TEOT FIT g

', Only conclusion 2 follows.

If% of the weight of a brick is g kg, then > of the weight of the brick will be:

20

21
20

x, 2k
gmﬂm
Xy ke
gmﬂm
Vs sk
15

az

15
X4 32 K8

0.61 o fir TSTemer FolehedT ¥ feoell Fa TUTANT &1 15 of?

Ans

When was India's capital shifted from Calcutta to Delhi?
<4 1912
/<, 1905

Question ID :9864492741
Status :Answered
Chosen Option :3

Question ID :9864492111
Status :Answered
Chosen Option :4
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X5 1910
v, 1911

062 fBAART # ToleAT (Plasma) S<T=T &I HRUT &
Plasma is formed in the stars because of very:
SH cld

#(, low pressure
ot dldels

v, high temperature
3=d ald

/3 high pressure
hH dHHTA

< 4 low temperature

063 wradr 2018 @, T F FEIHAT Fief 32
As of February 2018, who is the Chief Minister of Kerala?

el s

«', Pinarayi Vijayan
FHA T

2{'2‘ Oommen Chandy

T. &. TEA
# 3 AK Antony

A TH. =gt
# 4 VS Achuthanandan

Ans

Ans

Q.64

Question ID :9864493368
Status :Answered
Chosen Option :2

Question ID :9864492157
Status :Answered
Chosen Option :1

Question ID :9864494386
Status :Not Answered

Chosen Option :-- Page - 40
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Stu/

P C B ™M
Sub

w 70 | 90 | 50 85
X 535 | 80 | 95 60
Y 60 | 20 | 90 40
Zz 90 | B0 | 40 65

o aR Bt P, C, B3k MFar s W, X, Y 3R Z earr
9Iod 3ehl T Iidfeitca adr g1 Jcde @ud # ’fead 3% 100 gl

IR O & P 3R C #7 3i9a 3% (Te SrFe T o qUitehd) faeae &

Stu/

P C B M
Sub

W 70 | 90 | 50 85
X 35 | 80 | 95 60
Y 60 | 20 | 90 40
rd 90 | 80 | 40 65

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.

The average marks of the four students in P and C together (round to one decimal) is:

Ans  #<1 68.3
v, 68.1
<3 68.2
<4, 69
Q.65 Question ID :9864493808

Status :Answered
Chosen Option :3
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T & FH TH O fhad W gs ¢l I wF forame R & 187 i A= &
59 T W g A ol ThaTal H e et g

Some books are arranged one above the other. If a book is at 18 position from top and 5%
position from bottom then the total number of books is:

Ans <1 21
X5 20
V3 22
X, 23
Q.66 v =T = EF-‘I%' EFF_'_; F 1500 & E’-ﬂﬁ' 3.ﬁq- 3T 12% o 9T &= ﬁ\TITI E‘F},’ Question ID :9864492848

Status :Answered
& fashr Ao Far ar? Chosen Option :2

A person bought an item for < 1,500 and sold it at a profit of 12%. What was the selling
price of the item?
Ans 4 ¥1,620
v, 11,680
#< 3 ¥1,800
<, 31,662

067 grefr & s weh Frenw & @ 74 g ey i a9 & @A W TS Question ID :9864493524

Status :Answered

IETTEF HHR T I T 21T 21 SHHT FI0T 4T 22 Chosen Option :3

A lemon kept in water in a glass tumbler appears to be bigger than its actual size when
viewed from the sides. This is because of:

el T faaaeT

2{'1‘ diffraction of light
QaRrel & HTaIe Tade

/X, internal reflection of light

Ans
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9eRrel & 399+

'3 refraction of light

YeRTel T I
# 4 reflection of light

068 TrrAfafla 7 ¥ i A gfadieTa=r dieit Hr frear At g2
Which of the following is NOT a characteristic of dicotyledons plants?

s Ol H 2 faaTaa g

# 1 These plants have 2 cotyledons
Ot AagAT TS @ €

v, These plants have fibrous roots
s diell & STelieR A gaT g

){"3_ These plants have reticulate venation
T M A T ST AT E B

#, These plants have a tap root

Ans

Q.69 ﬁ;ﬂaﬁ@mmﬁﬁﬂ%mﬁmmmﬂﬂaﬁ¢5mw%z

Energy possessed by an object by its position or configuration is called:
Rfas w=r

', Potential energy

aifa=t Far
#<, Kinetic energy

faega =i

< 3 Electrical energy

Ans

Question ID :9864493555
Status :Not Answered
Chosen Option :--

Question ID :9864493541
Status :Answered
Chosen Option :1
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Q.70

Ans

Q.71

Ans

TATOT ST
4 Nuclear energy
e AT 3l & T & 7 Selauad deY AT HIHT (AU &
ETET F T H FAT AT AT

Which Indian industrialist was recently elected as the Chairman of the International
Chamber of Commerce (ICC)?

i ) r ‘
#<1 Mukesh Ambani
AT A
X5 Lakshmi Mittal
Hferer e
3 Anil Ambani
geirel B GE
V', Sunil Mittal

A RT 71T el # O FaTUT 26 &7 I

qRaes : Al & & ¢
Select the related word from the given alternatives:
Transport : Goods :: Banks :
u13s
# 1 Pounds

Question ID :9864492244
Status :Answered
Chosen Option :2

Question ID :9864493664
Status :Answered
Chosen Option :2
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ol
v, Money

T
X3 Rupees

r

STeld

# 4 Dollar
Q.72 3T ﬁﬁq‘ & T ﬁ Eﬂ' m ﬁ-q- T ﬁf_,n' # FH ;Er m‘ T a; ﬁ'q' Question ID :9864494162

Status :Answered
39T gl Chosen Option :1

- e |®

Select the option that will fit in the blank space in the given figure series.
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Ky Lo
10 9r{IAT & @1, fFEr Teoara & 9fa a1 3iHa TR 52 o1 12 9ifyEt &
91 399 TR 98 543?M|uﬁam:ﬁ,ﬁa?»ﬁwqrﬂ$r§amﬁ
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After 10 innings the average score per innings of a batsman was 52. After 12 innings the
average rose to 54. If the batsman had scored 16 more runs in the 12% innings than in the
previous one, how many runs did he score in the 11% innings?

<1 54

v, 56

X3 55

<, 53
U frohe A9 &, a2l & T &1 57 9K forar srar § & =R & e &

0TI 16 HIT A 25 §| & THIUT 4T g1

In a cricket match, the scores of the players are considered such that coefficient of
variation of scores is 16 and mean is 25.then the variance is:

<1 4
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Ans

e R AT Rravsgrei s asa aRfia g
@)1

de:
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1. SH S, gAY &of & Hedl H Hier &
2. IfE 3T Fear & T 3@ g F gERT oA A AT FBdr LA

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:

During an election, the opposition party said, “look at the price rise in the last five years”.

Assumptions:
1. This time, give a chance to our party for power.
2. Prices will still rise if you choose the same party to be in power

ol AT 1 fAfga 7
# 1 Only assumption 1 is implicit.

Faar A 2 e g

5 Only assumption 2 is implicit.
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1 3ir 2 o=t AfgT &
'3 Both 1 and 2 are implicit.
1 3k 2 2t fafka =& &

&, Neither 1 nor is 2 implicit.
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